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1 Introduction

RAN4 had discussed Relay coexistence simulation assumptions and results for a few meetings. This paper gives further downlink simulation results for alignment.

2 Simulation assumptions
The deployment scenario is the same as that used in [1]. The UEs are located indoors with a probability of 80%. Figure 1 gives simulation layout for case 1. The aggressors are adjacent channel macro eNB and Relay access side and the victim is eNB to UE link. 50% of active RNs are in DL access transmission state (aggressor) and all eNBs are active (aggressor). The system throughput with no external aggressors is made as the single system ideal throughput. Therefore, the interference from aggressor eNB may cause some throughput loss even with higher downlink ACLR value for RN.
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Figure 1 Simulation layout for case 1
Figure 2 gives simulation layout for case 3. The aggressor is adjacent channel macro eNB downlink and the victims are eNB to UE link and eNB to RN link. All active RNs are in DL backhaul reception state in each drop to simplify the simulation. Only RN DL backhaul throughput loss is considered to evaluate RN DL backhaul ACS requirement. Furthermore, one MUE or one RN is active in one snapshot based on the traffic model addressed in [2].
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Figure 2 Simulation layout for case 3
3 Simulation results
The following sections give simulation results on case A1, A3, C1 and C3.
3.1 A1
Table 1 Case A1 ACIR VS throughput loss

	ACIR
	15dB
	20 dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	24.00
	16.04
	12.35
	8.56
	5.63
	4.5

	Average Throughput Loss
	4.24
	2.99
	2.13
	1.74
	1.70
	1.63
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Figure 3 Simulation result of case A1
3.2 C1

Table 2 Case C1 ACIR VS throughput loss

	ACIR
	15dB
	20 dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	19.56
	14.26
	11.45
	10.13
	9.47
	9.16

	Average Throughput Loss
	4.19
	3.12
	2.70
	2.47
	2.29
	2.19
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Figure 4 Simulation result of case C1
3.3 A3
Table 3 Case A3 ACIR VS throughput loss

	ACIR
	20 dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	-
	-
	-
	-
	-

	Average Throughput Loss
	11.18
	5.23
	1.96
	1.14
	0.35
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Figure 5 Simulation result of case A3
3.4 C3
Table 4 Case C3 ACIR VS throughput loss

	ACIR
	15dB
	20 dB
	25 dB
	30 dB
	35 dB
	40 dB

	5% Throughput Loss
	-
	-
	-
	-
	-
	-

	Average Throughput Loss
	15.67
	6.68
	2.49
	1.17
	0.70
	0.28
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Figure 6 Simulation result of case C3
4 Conclusion
This contribution gives updated simulation results for case 1 (A1, C1) and case 3 (A3, C3). The results state that the average throughput loss of macro eNB DL in case A1 is less than 5% for ACIR = 15dB. In case C1, the average throughput loss is less than 5% for ACIR = 15dB. In case A3, the average throughput loss is less than 5% for ACIR = 25dB. In case C3, the average throughput loss is less than 5% for ACIR = 22dB. 
The 5% CDF throughput loss of macro eNB DL in case A1 is less than 5% for ACIR = 36dB. In case C1, the 5% CDF throughput loss is bigger than 5% even for ACIR = 40dB. 
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